VOLUME 4.2

FINANCIAL OFFER TEMPLATES

LUMP SUM CONTRACTS (design and building)

Content

4.2.1 — Introduction

- 4.2.2 Summary
- 4.2.3 Breakdown of the lump-sum price

VOLUME 4.2.1 — INTRODUCTION

1. General

1.1 The breakdown of the lump-sum price (Volume 4.2.3) is the itemised list of prices showing the buildup of the price in a lump-sum contract. This breakdown of the lump-sum price does not derogate in any way to the clause stating that, in a lump-sum contract, the total contract price remains fixed irrespective of the quantity of work actually carried out.

The amounts due will be calculated:

The amounts due shall be calculated by measuring the works carried out in relation to the firm quantities of each item of the breakdown of the lump-sum price, according to the elaborated local budget estimates, included in the approved works technical design.

1.3 Provisional sums for use when works are to be executed on a daywork basis (Volume 4.2.4) can only be executed by administrative order of the supervisor, in accordance with the terms of the contract.

2. Specific to Volumes 4.2.2, 4.2.3

- 2.1 The item description given in the breakdown of the lump-sum price in no way limits the contractor's obligations under the contract to provide all the works described elsewhere.
- 2.2 The prices of the breakdown of the lump-sum price include all incidental and contingent expenses and all risks necessary to construct, complete and maintain all works in accordance with the contract. Unless separate items are provided in the breakdown of the lump-sum price, prices include all costs involved in the various items of the breakdown.
- 2.3 The lump–sum price and the prices of the breakdown of the lump-sum price are all-inclusive and include any non-exonerated tax or fiscal duty.

Description	Amount [EUR] Suma Fara TVA		
 Total of lump-sum price for the works and equipment 	82 995.0		
2. General overheads	0		
3. Other costs, if any	0		
TOTAL PRICE	82 995.0		

Elloica S.R.L. Signature: Date: 25.05.2023 FA CC

VOLUME 4.2.3 — BREAKDOWN OF THE LUMP-SUM PRICE (Devize pe objective)

Item	Description	Unit	Unit	Firm	Lump-sum	
			price	quantities	price EURO	
Α	Elaboration of Technical design documents: professional engineering/design works including					
	all coordination costs.					
	1. Clădirea Primariei Edineț	Set	1 500.0	1	1 500.0	
	2. Clădirea Tinerilor Tehnicieni	Set	1 500.0	1	1 500.0	
	3. Clădirea Casei de cultură	Set	1 500.0	1	1 500.0	
В	Supply, unloading, turnkey installation, connection, commissioning of 3 On-grid Photovoltaic					
	(PV) net-metering systems with cumulative installed capacity of 120,45 kWp					
	Clădirea Primariei Edineț (40,15 kWp)					
	PV Panels (550W, Spolar PV SP550HM6-55L)	Nr.	200.0	73	14 600.0	
	Inverter (40 kW, SOFAR 40 KTLC-G3)	Nr.	2 185.0	1	2 185.0	
B1	Connectors (MC4)	Nr.	0.4	15	6.0	
	Tile holding support (HL-MR-07B)	Nr.	5.0	160	800.0	
	Bidirectional 3-phase electricity meter	Nr.	910.0	1	910.0	
	Lateral Clamp (HL-CTEC)	Nr.	0.6	50	30.0	
	Median Clamps (HL-CTMC)	Nr.	0.6	140	84.0	
	Solar Cable (Black) (H1Z2Z2-K 1x6)	Meters	0.8	600	480.0	
	Installation work	Activity	940.0	1	940.0	
	Overhead expenditure	Set	6 130.0	1	6 130.0	
B2	Clădirea Tinerilor Tehnicieni (40,15 kWp)					
	PV Panels (550W, Spolar PV SP550HM6-55L)	Nr.	200.0	73	14 600.0	
	Inverter (20 kW, SOFAR 20 KTLC-G3)	Nr.	1 092.5	2	2 185.0	
	Connectors (MC4)	Nr.	0.4	15	6.0	
	Tile holding support (HL-MR-07B)	Nr.	5.0	160	800.0	
	Bidirectional 3-phase electricity meter	Nr.	910.0	1	910.0	
	Lateral Clamp (HL-CTEC)	Nr.	0.6	50	30.0	
	Median Clamps (HL-CTMC)	Nr.	0.6	140	84.0	
	Solar Cable (Black) (H1Z2Z2-K 1x6)	Meters	0.8	600	480.0	
	Installation work	Activity	940.0	1	940.0	
	Overhead expenditure	Set	6 130.0	1	6 130.0	
B3	Clădirea Casei de cultură (40,15 kWp)					
	PV Panels (550W, Spolar PV SP550HM6-55L)	Nr.	200.0	73	14 600.0	
	Inverter (20kW, SOFAR 20 KTLC-G3)	Nr.	1 092.5	2	2 185.0	
	Connectors (MC4)	Nr.	0.4	15	6.0	
	Tile holding support (HL-MR-07B)	Nr.	5.0	160	800.0	
	Bidirectional 3-phase electricity meter	Nr.	910.0	1	910.0	
	Lateral Clamp (HL-CTEC)	Nr.	0.6	50	30.0	
	Median Clamps (HL-CTMC)	Nr.	0.6	140	84.0	
	Solar Cable (Black) (H1Z2Z2-K 1x6)	Meters	0.8	600	480.0	
	Installation work	Activity	940.0	1	940.0	
	Overhead expenditure	Set	6 130.0	1	6 130.0	
C1	Total lump-sum price, VAT ZERO (Fara TVA		I	I	82 995.0	

Signature:

Date: 25.05.2023

Ellvica

Page 4 of 4